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Solve each equation. 

1.)   3𝑝 − 𝑝 = 0 

 

 

 

 

2.)  𝑎 + 6 + 4 = 7𝑎 + 10 

 

 

 

 

3.)    −6 − 5𝑎 + 8𝑎 = 1 + 3𝑎 

 

 

 

 

4.)    6(1 + 8𝑥) = 390 

 

5.)    −2𝑎 − 4(−3𝑎 + 6) = −40 + 8𝑎 

 

 

 

 

6.)    3 + 8(𝑛 − 5) = −37 + 8𝑛 

 

 

 

 

7.)    −5 − 4(𝑣 − 4) = 2(−𝑣 + 6) + 7 

 

 

 

 

8.)    −2(5 − 6𝑎) − 4 = 2(2𝑎 − 3) 

 

 

 

 

 

Solve each equation for the indicated variable. 

9.)     𝑧 =
𝑚

𝑥
, 𝑓𝑜𝑟 𝑥 

 

 

 

 

 

10.)    𝑔 = −2𝑥 + 3, 𝑓𝑜𝑟 𝑥 

 

 

 

 



11.)    𝑐𝑎 =
𝑟

𝑑
, 𝑓𝑜𝑟 𝑎 

 

 

 

 

12.)    𝑧 = 𝑦 − 𝑚𝑥, 𝑓𝑜𝑟 𝑥 

 

 

 

 

13.)    2𝑚 + 3𝑎 = 1, 𝑓𝑜𝑟 𝑎 

 

14.)    4𝑚 + 4𝑎 = −5, 𝑓𝑜𝑟 𝑎 

  

 

 

15.)    𝑢 = −3𝑦 + 12, 𝑓𝑜𝑟 𝑦 

 

16.)     𝑔 = −3𝑏 − 32𝑎, 𝑓𝑜𝑟 𝑎

For each function, find the indicated values. 

17.)    𝑓: 𝑥 → 7𝑥 − 2 

𝑓(4) = 

 

𝑓(−1) = 

 

𝑓(0) =     

 

18.)    𝑔: 𝑛 → |𝑛2 − 5𝑛| 

𝑔(2) = 

 

𝑔(−2) = 

 

𝑔(1) =   

Find the Range of Each Function. 

19.)     𝑓: 𝑥 → 𝑥2 − 2𝑥, 𝐷 = {−2, 0, 4} 

 

 

 

20.)     𝐻: 𝑥 → −6𝑥 − |𝑥|, 𝐷 = {−1, 3, 12} 

 

 

 

 



Give the Domain of each Function. 

20.)     𝑓(𝑥) = 2𝑥 − 3 

 

 

 

21.)     𝑔(𝑎) =
23

2𝑎−12
 

 

 

 

 

22.) 𝐻(𝑥) = √𝑥 + 9 

 

 

 

 

𝑳𝒆𝒕 𝒇(𝒙) = 𝟐𝒙 + 𝟏 𝒂𝒏𝒅 𝒈(𝒙) = |𝟐 − 𝟑𝒙|.  

Find the indicated values. 

23.)    𝑔(𝑓(3)) = 

 

 

 

24.)    𝑓(𝑔(−2)) = 

 

 

 

25.)    𝑔(𝑓(0)) = 

 

 

 

26.)    𝑓(𝑔(−4)) = 

 

 

 

Give the domain and range of each relation. Is the relation a function? 

27.)    {(2, 7), (−1, 3), (0, 7)} 

 

 

 

28.)    {(−5, 2), (11, 51), (−5, 9)} 

 

 



Graph each relation. Then tell whether it is a function. If it is not a function, draw a 

vertical line that intersects the graph more than once. 

29.)    {(2, 5), (3, 1), (0, 4), (2, −3 )} 

    

 

 

 

 

 

 

 

 

 

 

 

 

 

30.)    {(−3, 6), (2, −2), (1, 4), (2, 7 )}


